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QUESTION 1

Which statement is true about Oracle Cloud Infrastructure FastConnect? 

A. For private peering, FastConnect extends your existing infrastructure to allow you to consume object storage from
your on-premises data center 

B. For private peering, FastConnect extends your existing infrastructure to a virtual cloud network 

C. The FastConnect provider network offers only 1 Gbps port connection speed increments 

D. For public peering, a dynamic routing gateway must be configured and attached to the virtual cloud network (VCN) 

Correct Answer: B 

With FastConnect, you can choose to use private peering, public peering, or both. Private peering: To extend your
existing infrastructure into a virtual cloud network (VCN) in Oracle Cloud Infrastructure (for example, to implement a
hybrid cloud, or a lift and shift scenario). Communication across the connection is with IPv4 private addresses (typically
RFC 1918). Public peering: To access public services in Oracle Cloud Infrastructure without using the internet. For
example, Object Storage, the Oracle Cloud Infrastructure Console and APIs, or public load balancers in your VCN.
Communication across the connection is with IPv4 public IP addresses. Without FastConnect, the traffic destined for
public IP addresses would be routed over the internet. 

 

QUESTION 2

Which two options are necessary for achieving high availability on Oracle Cloud Infrastructure? 

A. Store your database across multiple regions so that half of the data resides in one region and the other half resides in
another region. 

B. Attach your block volume form Availability Domain 1 to a compute instance in Availability Domain 2 (and vice versa)
so that they are highly available. 

C. Configure your database to have Data Guard in another Availability Domain in Sync mode within a region. 

D. Store your database files on Object Storage so that they are available in all Availability Domains in all regions. 

E. Distribute your application servers across all Availability Domains within a region. 

Correct Answer: CE 

All details can find in "Best Practices for Deploying High Availability Architecture on Oracle Cloud Infrastructure"
https://docs.cloud.oracle.com/en-us/iaas/Content/Resources/Assets/whitepapers/best-practices- deploying-ha-
architecture-oci.pdf 

 

QUESTION 3

You have launched a compute instance running Oracle database in a private subnet in the Oracle Cloud Infrastructure
US East region. You have also created a Service Gateway to back up the data files to OCI Object Storage in the same
region. You have modified the security list associated with the private subnet to allow traffic to the Service Gateway, but
your instance still cannot access OCI Object Storage. How can you resolve this issue? 
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A. Add a stateful rule that enables ingress HTTPS (TOP port 443) traffic to 001 Object Storage in the security list
associated with the private subnet 

B. Add a stateful rule that enables egress HTTPS (TCP port 443) traffic to OCI Object Storage in the security list
associated with the private subnet 

C. Add a rule in the Route Table associated with the private subnet with Target type as "Service Gateway" and
destination service as all IAD services in the Oracle Service Network.\\' 

D. Use the default Security List, which has ports open for OCI Object Storage 

Correct Answer: C 

A service gateway lets your virtual cloud network (VCN) privately access specific Oracle services without exposing the
data to the public internet. No internet gateway or NAT is required to reach those specific services. The resources in
the 

VCN can be in a private subnet and use only private IP addresses. The traffic from the VCN to the Oracle service
travels over the Oracle network fabric and never traverses the internet. 

The service gateway is regional and enables access only to supported Oracle services in the same region as the VCN. 

For traffic to be routed from a subnet in your VCN to a service gateway, you must add a rule accordingly to the
subnet\\'s route table. The rule must use the service gateway as the target. For the destination, you must use the
service CIDR label 

that is enabled for the service gateway. This means that you don\\'t have to know the specific public CIDRs, which could
change over time. 

 

QUESTION 4

Where are DB Systems backups stored by default? 

A. ASM disk group 

B. locally attached NVMe on virtual machine 

C. block volume 

D. object storage on Oracle Cloud Infrastructure 

Correct Answer: D 

 

QUESTION 5

What happens when you run terraform plan? 

A. It configures, reconfigures, and instantiates resources and their dependencies. 

B. It shows the operator the course of action that would be taken if a change is applied. 

C. It deletes all existing resources and re-creates them. 
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D. It shows a dependency graph. 

Correct Answer: B 

References: 

The terraform plan command is used to create an execution plan. Terraform performs a refresh, unless explicitly
disabled, and then determines what actions are necessary to achieve the desired state specified in the configuration
files. 

This command is a convenient way to check whether the execution plan for a set of changes matches your expectations
without making any changes to real resources or to the state. For example, terraform plan might be run before 

committing a change to version control, to create confidence that it will behave as expected. 
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